ACUPRESSURE SHODH PRASHIKSHAN EVAM UPCHAR SANSTHAN
49/24-A, MINTO ROAD, PRAYAGRAJ.

SESSION JAN - JUNE 2023
ASPEUS CORRESPONDENCE COURSE - SEM -1 (CAHS)

BASICS OF HUMAN BODY (BHB-1)

TIME - 1.30 HRS MAX MARKS-100
(ONLINE EXAM)

(Objective Questions)

(aegfrss g==)

Attempt each question: 50x2=100
Jd® YTl @ Sk 1:

(1) Site of Synthesis of protein in cells is -

(a) Nucleus (b) Ribosomes
(c) Both (d) None
BIRTHIET AYTAT & HIAYUT BT I T & —
(a) =yfoeras (b) ATSCIBHIfgaT
(c) ==l (d) Big el

(2) Formation of Lymphocyte in the body occur in-
(a) Kidney (b) Lymph nodes
(c) Bone marrow (d) None
IR A forrpiarge &1 o E 8 —
(a) ga® (b) formaisw
(c) 3rRerwwaIT (d) ®dig 2l

(3) Cardiac word is related to -
(a)Heart (b) Lungs
(c) Both (d) None
Cardiac ¥reg f=1 | gvafea 32—
(a) gaa @ (b) BwHsT @
(c) <t (d) &I &l

(4) This is acidic in nature -
(a) Bile juice (b) Pancreatic juice
(c) Both (d) None
qg Il Bar 2—
(a) d913dl S[E (b) dfparfes S

(c) <r=it (d) iz T8l



)

(6)

(7)

(8)

(9)

(10)

The main function of large intestine is -

(a) Excretion (b) Secretion
(c) Absorption (d) None

I ITd BT JE&T Hrf 3

(a) S+ (b) aqur

(c) raenyor (d) ®dig =gl
Beneficial bacteria are present in -

(a) Large Intestine (b) Small Intestine
(c) Both (d) None
are AFARAT T wd &

(a) 9 arig & (b) BY arig &
(c) <=l (d) Big el
Example of Cartilage tissue is -

(@) Nose (b) Ear

(c) Both (d) None
FIfEAT Had BT SITENT 28—

(a) -T® (b) @11

(c) <t (d) &1 &l
Essential part of diet is -

(a) Fat (b) Water

(c) Protein (d) All

Ig HISH & ATILAH AT 2—

(a) T (b) Stet

(c) = (d) |+

Group of similar cells are called -

(a) Organ (b) System

(c) Tissue (d) None

T$ Sl HIR@HRT & g & dad o—

(a) 3T (b) d=

(c) ®d® (d) &g &Y
_____Cells help in formation of blood clot -

(a) Leucocyte (b) Thrombocyte
(c) Both (d) None

I SINGR G ST ATPHT 999 d AT Al 28—
(a) =@raTET (b) anwatarge

(c) qr=Y (d) &g &



(11)

(12)

(13)

(14)

(15)

(16)

In HIV, V stand for-

(a) Bacteria
(c) Protozoa

HIV & V&r arcad 2 —
(a) dFARaT
(c) greroia

(b) Virus
(d) All

(b) IRIRE
(d) ¥

Lymphoid connective tissues are mainly present in -

(a) Digestive organ
(c) Lymph nodes

(b) Respiratory organ
(d) None

g% ®U 9§ Lymphoid connective tissues 91l ST 88—

(@) ura® dF d
(c) fermiis o

Blood is made up of -
(a) Blood cells

(c) Organic substances
Gd 91 B —

(a) Yqa HivTHRI |
(c) drdfI® a4

Good fat is -
(a) Saturated
(c) Both
3BT Tl B—
(a) Aqw

(c) <=t

Neutrophil is a type of -
(a) RBC

(c) Both

gifhel © b YPR DI—
(a) .14

(c) <=t

pH of blood is -
(a) Acidic

(c) Both

Yad &1 N.uh. 28—
(a) 3rell™

(c) <=t

(b) Taas 9
(d) @13 =Tl

(b) Plasma
(d) All

(b) Wt T ¥
(d) |+

(b) Unsaturated
(d) None

(b) sraqw
(d) ®I$ et

(b) Protein
(d) None

(b) 9Td=
(d) &I &l

(b) Alkaline
(d) None

(b) &I
(d) &1 &l



(17)

(18)

(19)

(20)

(21)

(22)

Human body is group of-

(a)Cells (b) System
(c) Tissue (d) None
AMd IRR 998 &—

(a) SIS BT (b)yd= &1

(c) ®dd &I (d) dig &l
In case of Obstructive jaundice, the Alkaline phosphate will be -
(a) Very high (b) Low

(c) Both (d) None
Obstructive SITf~ed # Tedhdlg BIABT BIT—
(a) 9gd Afer® (b) $4

(c) <=l (d) Big el
Protein is absorbed in the form of -

(a) Amino acid (b) Fatty acid
(c) Both (d) None
NI 39 %y & INR ¥ Ifda gidr 2—

(a) =T TRrs (b) B Thas
(c) <=l (d) Big el
B-Lymphocyte produces-

(a) Antigen (b) Antibody
(c) Both (d) None
B-Lymphocyte d-Td &—

(a) Antigen (b) Antibody
(c) i1 (d) &g T8
It helps in the synthesis of Plasma protein -
(a) Liver (b) Heart

(c) Both (d) None

I e WA & ffor § W oRar 8-
(a) IRa (b) ®<&

(c) <=l (d) Big el
Site of synthesis of Vitamin B is -

(a) Stomach (b) Small Intestine
(c) Both (d) None
faerfi@ € &1 Gy e 23—

(a) JATHTI (b) BICY 3ria

(c) <=t (d) &g 2



(23) The primary fuel of the body is -

(24)

(25)

(26)

(27)

(28)

(a) Carbohydrate

(c) Both

IR BT &I S8 2—
(a) PHEIBIER T

(c) <=t

Pancreatic juice is -
(a) Acidic

(c) Both

IFTY O[H 8-
(a) 3rell™

(c) <=l

HCL is present in -
(a) Mouth

(c) Stomach

HCL 9rIT SIrar 8—
(a) g A

(c) srmHTE g |

Normal colour of blood is
(a) Scarlet
(c) Both

Xqd T qH T —————

(a) Riegd
(c) =T

Good Cholesterol is-
(a) LDL
(c) Both
BT BIACT 2—
(a) LDL
(c) <=t

Skeletal muscles are -
(a) Voluntary

(c) Both

PPl B! AT 2—
(a) efeo®

(c) <=t

(b) Protein
(d) None

(b) gIé=
(d) Big el

(b) Alkaline
(d) None

(b) &I
(d) &g €l

(b) Appendix
(d) None

(b) srifrsad #
(d) ®1g =&

red-
(b) Purple
(d) None

(b) HDL
(d) None

(b) HDL
(d) g T
(b) Involuntary

(d) None

(b) sifeo®
(d) &g Tl



(29)

(30)

(31)

(32)

(33)

(34)

We may call it the soul of the cell -

(a) Mitochondria (b) Nucleus
(c) Both (d) None
g9 39 PINMGT B IJTHT $8 bd a—

(a) ATgCIBI~gAT (b) =yforeras
(c) &It (d) Big el
Protein is necessary for the formation of-
(a) Hormones (b) Enzyme
(c) Antibodies (d) All
A s i & fov smavas 2—

(a) sHi=d (b) T=oITEH
(c) TaTSIo (d) gt
Type of RBC-

(a) 4 (b) 5

(c) 1 (d) None
RBC & UdbRR—

(a) 4 (b) 5

(c) 1 (d) ®1g =Tl
Fat is absorbed in the form of -

(a) Amino acid (b) Fatty acid
(c) Both (d) None
a9grs< wy o g gar 2—

(a) 3ril wfts (b) & Tfas
(c) <=l (d) Big el
Albumin is a-

(a) Enzyme (b) Protein
(c) Both (d) None
T B—

(a) TiTgH (b) gt
(c) <=l (d) Big el
Bile juice collects in -

(a) Stomach (b) Liver

(c) Gall Bladder (d) None
a1 g&fa shar 2-

(a) AT | (b) aHa o
(c) e (d) &g T8



(35) Store house of protein in cell is -

(a) Nucleus (b) Golgi Apparatus

(c) Both (d) None

B § GIAT BT U W 2—

(a) gfaraawa (b) M TdeH

(c) <t (d) &I &l
(36) It connects Cell Membrane to nucleus -

(a) Lysosome (b) Endoplasmic Reticulum

(c) Cytoplasm (d) None

Ig Cell Membrane &1 gf¥aaw | Sirsdl a—

(a) TS (b) siwrfous feqan

(c) ATSCITeTSH (d) &g TS
(37) Life span of Erythrocyte is

(a) 70 days (b) 90 days

(c) 5 days (d) None

Erythrocyte &T SfilasT &Td 8—

(@) 70 f&= (b) 90 fa&=1

(c) 5 fa= (d) ®Ig =Tl
(38) Parts of Large Intestine is -

(a) Duodenum (b) Jejunum

(c) lleum (d) None

9 31T B HIT B—

(a) SgfeT (b) ST

(c) sforam (d) ®Ig =TEl
(39) Hook worm infection may cause -

(a) Anemia (b) Jaundice

(c) Both (d) None

Hook worm SshHYT & ®IRYT & Adhdl a—

(a) g=iifdyan (b) Sitf~sq

(c) <=t (d) &1 Tl
(40) Albumin is a part of-

(a) Plasma protein (b) Blood

(c) Both (d) None

e =1 BT ArT -

(a) wITSHT gIdH (b) e

(c) erat (d) &g €l



(41)

(42)

(43)

Liver is located at left side of the stomach -

(a) Yes (b) No
(c) Both (d) None
qGHd AR P 1Y 3N 23—
(a) =T (b) =T&¥
(c) <=l (d) Big el
It is located at the end of the small intestine -
(a) Appendix (b) Rectum
(c) Both (d) None
I BIY offd & 3Ad A ST 91T 2—
(a) vafrsad (b) Y&eq
(c) <=l (d) Big el
Homeostasis is necessary for maintaining-
(a) Blood pressure (b) Blood pH
(c) Both (d) None
Homeostasis S&Yl 8———a 30T & ferg—
(a) Xaadma (b) Xad &1 pH
(c) <t (d) &I &l
(44) Bile juice contains -
(a) Cholesterol (b) Bile salt
(c) Alkaline phosphatase (d) None
g < & ur omar 2-
(a) BrA¥STA (b) 913 ¥TeT
(C) IIeHTATE BIaBHTH (d) @+
(45) Itis a fluid connective tissue -
(a) Blood (b) CSF
(c) Both (d) None
IE Udh a¥al Wil Hadd o—
(a) Xad (b) CSF
(c) <=l (d) Big el
(46) Presence of ‘RH Factor’ in blood makes it -
(a) Positive (b) Negative
(c) Both (d) None
‘RH Factor @ SuRerfa vaa &1 g9l 23—
(a) Positive (b) Negative

(c) qrt (d) d1g T



(47) Epithelium is a type of -
(a) Tissue
(c) Both

sAferd T YbdR T ———

(a) Sd®
(c) <=l

(48) Types of blood cell are-
(a) 4
(c)1
GABIANBIET & YR 2—
(a) 4
(c)1

(49) Shape of RBC is -
(a) Biconvex
(c) Both
RBC &T Shape 2—
(a) Biconvex

(c) <=l

(50) Power house of cell is-
(a) Mitochondria
(c) Both
BT BT YTaX B8 8—
(a) wTScIBif~gaT
(c) gl

(b) Protein
(d) None

oy

(b) gTd=
(d) &g Tl

(b) 2

(d) None

(b) 2

(d) ®I$ =TeX
(b) Biconcave
(d) None

(b) Biconcave
(d) B¢ Tl
(b) Nucleus

(d) None

(b) gfeeraa
(d) &g Tl



ACUPRESSURE SHODH PRASHIKSHAN EVAM UPCHAR SANSTHAN
49/24-A, MINTO ROAD, PRAYAGRAJ.

SESSION JAN - JUNE 2023
ASPEUS CORRESPONDENCE COURSE-SEM - 1(CAHS)

CHINESE ACUPRESSURE (CA-1)

TIME - 1.30 HRS MAX MARKS-100
(ONLINE EXAM)

Objective Questions(a¥f-Ts U¥)

Attempt each question: 50x2=100
AP 9l & SR -

(1) Secondary correspondence of left hand is-

(a)Lt Index finger (b) Rt Index finger

(c) Rt Small finger (d) None

Ty &1 fgdia Qqea 28—

(a)sd qoit § (b) TR asi-it #

(c) IrRfY sffSssr d (d)y®ig T2l
(2) Energy of “Earth elements” is -

(a)Heat (b) Humidity

(c) Wind (d) None

gl a3 @Y ol & —

(a)S™T (b) 3T

(c) ary (d)piE T
(3) Total points in Spleen meridian is -

(a)15 (b) 22

(c) 21 (d) None

e AT & ga fag &

(a)15 (b) 22

(c) 21 (d) ®Ig =Tl
(4) Controller of Earth is -

(a)Metal (b) Fire

(c) Water (d) None

gyt @ &1 fFreas @ —

(a)errg (b) arf¥

(c) Siet (d) B¢ T



)

(6)

(7)

(8)

(9)

Yellow colour related element is -

(a)Wood
(c) Earth

drer 37 9§ gwfed da 2—

(a) 1SS
(c) gedt

Opening of Liver organ is -
(b) Eyes

(a)Nose
(c) Ears

Jqd 319ad BT Opening &—

(a)T®
(c) @

Pair organ of Heart is -
(a)Liver

(c) Small Intestine
<d BT T IqUd 8-
(a)a®a

(c) BIY 3ra

Yang organ is -
(a) Liver

(c) Triple warmer
I Jqaq B—
(a)aga

(c) feuar ariz

Distal point of chest is-
(a)P -6

(c) St-36

BIdl &1 3T fag 23—
(a)P -6

(c) St-36

(b) Fire
(d) None

(b) arf¥
(d) BIg T

(d) None

(b) afe
CIEIEIRE]

(b) Large Intestine

(d) None
(b) 9T 3rid
(d) ®I$ TeX
(b) Kidney
(d) None
(b) 39

(d) ®Ig Tl
(b) Li-4

(d) None

(b) Li - 4
(d) &g 2



(10)

(11)

(12)

(13)

(14)

(15)

UB 22 is Back Shu point of -

(a)Spleen (b) Liver

(c) Kidney (d) None

UB 22 Back Shu Point 2—

(a) wiraT &1 (b) Id &1
(c) g9 @1 (d) B =Tl
5 am to 7 am time is related to -

(a)Large Intestine (b) Small Intestine
(c) Lungs (d) None
5am ¥ 7 am 99 =1 4 wefEa 8-
(a)sst 3 (b) BIET 3rnid
(c) B (d) ?E T
The season related to coldness energy is -
(a)Spring (b) Winter
(c) Summer (d) None
fiaear Sof ¥ aafaa %= 23—

(a)gqd (b) =fia
(c)¥rsa (d) ®Ig =Tl

Meaning of TCM is -

(a)Traditional Chinese medicine (b) Traditional Chinese Man
(c) Traditional Chinese meridian (d) None

“TCM” &1 3ref2—

(a) Traditional Chinese medicine (b) Traditional Chinese Man
(c) Traditional Chinese meridian (d) &I &\

Wind point of Liver is -

(a)Liv -1 (b) Liv-2
(c)Liv-3 (d) None
Igd BT Wind fag @ —

(a) Liv-1 (b) Liv - 2

(c) Liv-3 (d) @Iy T8
Controller of all six Yin meridians is -

(a)GV (b) GB

(c) CV (d) None
aHt B: ¥ a0fsaq &1 aFe adfsaa 28—
(a)GV (b)GB

(c)CV (d) &g 2



(16) Emotion “Joy” related organ is-

(a)Lungs (b) Heart

(c) Spleen (d) None

9g~IdT 9 gHEfEd aua 28—

(a)pHs (b) €<a

(c) wiraT (d)y®ig 21
(17) Primary correspondence of Appendixis located in -

(a)Left palm (b) Left sole

(c) Right palm (d) None

Appendix®T 9TIfie AIgd &—

(@)t = ¥ (b) ST T

(c) <Y Bl A (d) BIg T&T
(18) “Liv - 3” is Front Shu point of -

(a) Lungs (b) Spleen

(c) Liver (d) None

“Liv - 3" Front Shu point 28—

(a) BHS BI (b) whraT®1

(c) BT BI (d) &g T8
(19) Source point of the Liver is -

(a)Liv-3 (b) Liv-2

(c)Liv-4 (d) None

Jhd &1 Source fag 2—

(a)Liv-3 (b) Liv-2

(c) Liv-4 (d) &g T8
(20) Pulse meeting point is-

(@)Lu-7 (b) St - 36

(c)Lu-9 (d) None

Pulse meeting point 8—

(a)Lu -7 (b) St - 36

(c)Lu-9 (d) ®dig gl
(21) Organ related to Body hair is -

(a)St—Sp (b) Lu - Li

(c)K-UB (d) None

IR @ 9ral O gHEfEd 9uq 2

(a) St—Sp (b) Lu - Li

(c)K-UB (d) &g 2



(22) Small Intestine meridian starts from -

(a) Index finger (b) Small finger

(c) Thumb (d) None

“BICY afd” @ AAfeIT e adr 8-

(a)asi=it & (b) ffs®T |

(c) IS @ (d) B 7
(23) Horary point of Heart is -

(@)H-3 (b)H -8

(c)H-9 (d) None

Heart ®T Horary fa=g @—

(@)H-3 (b)H--8

(c)H-9 (d) ®Ig =Tl
(24) Luo - Connecting point of Pericardium is -

(a)P -6 (b)P-7

(c) P-9 (d) None

®1fET9 B1Luo-Connecting point 28—

(a)P-6 (b)P -7

(c)P-9 (d) ®dig gl
(25) Energy of Tw meridian is-

(a)Wind (b) Hotness

(c) Coldness (d) None

Tw meridian®! ot 8—

(a)arg (b) 9ax IoAT

(c)efraetar (d) B3 -2l
(26) Earth point of St meridian is -

(a)St-40 (b) St - 36

(c) St-25 (d) None

Stomach meridian ®T Earth fa=<_2—

(a) St-40 (b) St-36

(c) St-25 (d) &g 2
(27) Total point in Kidney meridian is -

(a) 45 (b) 67

(c) 27 (d) None

gaa AT A o fag -

(a) 45 (b) 67

(c) 27 (d) &g &1



(28) Analgesic point is -

(a)Li-4 (b) ST-10

(c)Lu—-7 (d) None

%< fars fag 23—

(a)Li-4 (b) ST-10

(c) Lu—-7 (d) BIg =12l
(29) Creation element of fire is-

(a) Water (b) Wood

(c) Metal (d) None

IRT a@ &1 gord fHa a@ | grar -

(a)orad (b)dres

(c) =g (d) BIg T
(30) Tonification colour of Lungs is-

(a)Green (b) Brown

(c) Blue (d) None

BHs B SHoll 96 aTell T 8—

(a)exT (b)¥RT

(c) frem (d) @13 =Tl
(31) Bone marrow meeting point is-

(a) GB - 39 (b) GB - 34

(c)GB -25 (d) None

Bone marrow meeting point 8—

(a)GB - 39 (b) GB - 34

(c)GB - 25 (d) &g TE
(32) Leg Correspondence will be in —

(a) Small finger (b) Middle finger

(c) Index finger (d) None

IR $T WIg¥I BIIT—

(a) dFfs®T # (b) wez#T A

(c) aoi-it # (d)y®pis T8I
(833) Passage point for Lungs is -

(a) Lu -7 (b) Lu-8

(c) Lu-9 (d) None

B%s ®T Passage fag 2-—

(a)Lu -7 (b) Lu—8

(c)Lu—9 (d) &g Tl



(34) Emotion “Fear” related organ is -

(39)

(36)

(37)

(38)

(39)

(a) Heart (b) Kidney
(c) Spleen (d) None
“HY WG | GEEd d9uq 28—

(a)gsd (b) g7

(c) wefreT (d) dig &Y

Last point of Lungs meridian is located in -

(a) Index finger

(b) Middle finger

(c) Thumb (d) None
Lungs W89 &1 aifvaq fag Rera 2 —
(a) aoi+r # (b) wrezrH &
(c) IS A (d) P T
Sedation colour of Water element is -

(@) Red (b) Yellow
(c) Black (d) None
ST dcd dI%oll e ardr 37 28—

(a) <rel (b) dremm

(c) BT (d) ®dig gl
Energy of Lu 9 is -

(a) Coldness (b) Heat

(c) Humidity (d) None
Lu9 @ Soif & —

(a)2frderdn (b)S®HT

(c) amdar (d) B¢ T

Secondary correspondence of right elbow is-

(a) Rt small finger
(c) Rtiindex finger

(b) Lt small finger
(d) None

T Bl &1 fadias Qg 8-

(a)arfi sffssr #
(c) <RfY aoi-it ¥

Horary point of Kidney is -

(@a)K-2
(c)K-10

Ja% &1 RN fag 8-

(a)K-2
(c)K-10

(b) st BffRaPT #
(d) Pz e

(b)K-3
(d) None

(b)K -3
(d) Big el



(40)

(41)

(42)

(43)

(44)

(49)

Energy of Spleen is -

(a) Heat (b) Humidity
(c) Coldness (d) None
iET ® SHoll 8—

(@)A1 (b) Jrear
(c) TNderar (d) dIg &Y
Dryness energy related organ is -

(a) Lungs (b) Heart
(c) Spleen (d) None
ISHAT SHoll @ FHEfEd JIqad a—

(a)pHs (b) €<a

(c) wefrer (d) P T
Total point in Stomach meridian is —

(a) 40 (b) 44

(c) 45 (d) None.
e AAfsTT A go fead fag 3

(a) 40 (b) 44

(c) 45 (d) BIg T
Neck correspondence is located on -

(a) Palm (b) Back of thumb
(c) Sole (d) None
TS &1 Wy Rera 28—

(a)zereh (b) FT[S & N8
(c) aqad & (d) &g 2
Creator of wood element is -

(a) Fire (b) Metal
(c) Water (d) None
®IS dcd BT Yol fba dea gRT ghar 3—
(a)arf (b) &g

(c) o1 (d) BIE =T
Xl-cleft point of Heart is-

(@a)H-4 (b)H-5
(c)H-6 (d) None
2T &1 Xl-cleft fawg 8-

(@a)H-4 (b)H-5

(c)H-6 (d) dIg T



(46) Pair organ of Spleen is -

(a) Liver (b) Stomach

(c) Heart (d) None

AeT &1 YT JIqId o—

(a) a®d (b) JMHRI

(c)g=a (d) Big el
(47) Total point in Gall Bladder meridian is -

(a) 44 (b) 45

(c) 46 (d) None

e AT 7 g fear fag 2-

(a) 44 (b) 45

(c) 46 (d) ®dig gl
(48) Opening of Kidney is -

(a) Eye (b) Nose

(c) Ear (d) None

d &1 Opening 23—

(a)3iTE (b) IT®H

(c) ®T (d) BI¥ =TT
(49) Energy (Qi) Meeting point is -

(@)Lu-9 (b) St - 36

(c) CV-17 (d) None

Energy (Qi) Meeting fa=g, 38—

(@)Lu-9 (b) St - 36

(c)CV-17 (d)ydig Tl
(50) Front Shu point of kidney is -

(a)K-6 (b) UB - 23

(c) GB - 25 (d) None

ga® &1 Front Shu fa=g 2—

(a)K-6 (b) UB - 23

(c)GB -25 (d) ®dig gl



ACUPRESSURE SHODH PRASHIKSHAN EVAM UPCHAR SANSTHAN
49/24-A, MINTO ROAD, PRAYAGRAJ.

SESSION JAN - JUNE 2023
ASPEUS CORRESPONDENCE COURSE - SEM -1 (CAHS)

AYURVEDIC ACUPRESSURE (AA-1)

TIME - 1.30 HRS MAX MARKS-100
(ONLINE EXAM)

Objective Questions(a¥f-Ts U¥)

Attempt each question: 50x2=100
IS Yl & S} Q-

(1) Throat correspondence is plotted on -

(a)Middle finger (b) Ring finger

(c) Thumb (d) None

Tl @Y goarefar =1 w Rea @ —

(a)HegHT (b) Jr=TfDT

(c) 3iaT (d) BIs T
(2) ‘Blood tissue’ is plotted on -

(a)Lt Middle finger (b) Lt Index finger

(c) Lt Ring finger (d) None

I g1g’ =1 ) Rera @ —

(a) 9rAY HEFHT OEILIEGSEI

(c) i IFTfA®T (d) dig &Y
(3) Akash element is plotted on -

(a) Finger no.1 (b) Finger no.2

(c) Finger no.3 (d) None

‘MBI dea’ 1 ax Rera & —

(@) 3iTell 4.1 (b) el §.2

(c) el 4.3 (d) ®dig gl
(4) Which one is physical element-

(a) Kaal (b) Disha

(c) Prithvi (d) None

wifas a@ 3

(a) ®ra (b) fe=m

(c) gedi (d) dig Tl



)

(6)

(7)

(8)

(9)

Standard Correspondence of eyes is located on -

(a) Index finger (b) Thumb
(c) Ring finger (d) None
AT &1 gegrefar =1 v Rera 2—

(a) it e (b) Sf[aT
(c) ST 3iel (d) &g T8
How many sense organs are -

(a3 (b) 4

(c)5 (d) None
gl o fead aid 8-

(a3 (b) 4

(c)5 (d) ®Ig =TEl
019| treatment is used for -

(a) Infection (b) Leg pain
(c) Hand pain (d) None
019|SuaR feas ford gaiwr sar & —

(a) dHHIT (b) 4X <&
(c) BT T4 (d) HIg 1Y
Treatment of cervical spondylitis according to 10 origins will be on -
(@) LtIF (b) Lt RF
(c) Lt MF (d) None

qeidfcd Rigra @ ITUR Haisedd Wifsarsfed &1 StaR /91 w®
BHIT—

(a) LtIF (b) Lt RF

(c) Lt MF (d) &g T8
‘Pons’ is located on -

(a) Lt MF (b) Lt RF

(c) LtIF (d) None

9 e ax Rerg @ —

(a) 9l #eIHT (b) 9T IrTTfY®T

(c) Srff aof+ft (d) &g 2



(10) Correspondence of ‘Hip’ is located on -

(11)

(12)

(13)

(14)

(15)

(a) Index finger
(c) Middle finger

(b) Small finger
(d) None

Hoe o goarefar fr1 w Rea 2—

(a) aoi=t
(c) wegHT

‘Smell’ is the energy of -
(a) Earth element

(b) wffa®mr
(d) &1 &l

(b) Vayu element

(c) Kaal element (d) None

e f5E @ B =T -

(a) gedt (b) arg

(c) ®ral (d) ®dig gl
In Ayurvedic acupressure total number of elements are -
(a) 8 (b) 10

(c)6 (d) None
IRdfed TRPUIR § Fo fha d@ d 8-
(a) 8 (b) 10

(c)6 (d) ®Ig TE
Treatment of 4™ month of pregnancy will be on -
(a) RtIF (b) Rt MF

(c) Rt RF (d) None
die} A8 & AT T SUAR gRM—

(a) RtIF (b) Rt MF

(c) Rt RF (d) &g T8
Finger No.3 is -

(a) Lt RF (b) Lt IF

(c) Lt SF (d) None
3Tl WEar 3 & —

(a) Lt RF (b) Lt IF

(c) Lt SF (d) &g =gl

Correspondence of Navel is located on -

(a) Index finger
(c) Palm

(b) Ring finger
(d) None

a1t @t gearefar 1w Rea 2-

(a) aoi+t
(c) Teht

(b) 3T AT
(d) &g Tl



(16) “Vayu element’ is located on -

(a) Finger no.3 (b) Finger no.2

(c) Finger no.4 (d) None

9 a@ e I Rerad 23—

(a) el 4.3 (b) el §.2

(c) STl |.4 (d) B3 -2l
(17) Which meridian flows from bottom to top -

(a) Vertical meridian (b) Horizontal meridian

(c) Both (d) None

T 4@ SR o @ FAfsgs garfza g 2-

(a) or94ad gid (b) &fas ara

(c) <=l (d) BIg =12l
(18) Reproductive organs are plotted on -

(@)Lt SF P jt (b) Lt RF P jt

(c) Rt Thumb V jt (d) None

S 3 Rerg 3—

(@)Lt SF P jtux (b) Lt RF P jt u}

(c) Rt Thumb V jt ux (d) B3 -2l
(19) Heart and Si is plotted on -

(a) Lt SF (b) Lt IF

(c) Rt MF (d) None

g<d d BId) 3rad 1 ok Rera @ —

(a) Lt SF (b) Lt IF

(c) Rt MF (d) &g T8
(20) Cervical correspondence is located on -

(@) Thumb (b) Middle Finger

(c) Index finger (d) None

Hatsde @t gearefar Rea @ —

(a) T[S W (b) HETHT WR

(c) dsi+it wR (d) B3 -2l
(21) ‘Kid and UB’ organ are plotted on -

(a) Rt RF (b) Rt IF

(c) Lt RF (d) None

996 9 AN 3rqaqd 1 wR Rera @ —

(a) TAT ST (b) arlY i+

(c) arfY ITST (d) dig Tl



(22) Which meridian flows in circular way -

(a) Horizontal meridian (b) Vertical meridian

(c) Both (d) None

B9 A AT Mg ¥ garea s @ -

(a) dfast dia (b) e*gad Gid

(c) <t (d) @13 =Tl
(23) Lungs is plotted on -

(a) Lt SF K jt (b) Rt SF K jt

(c) Lt RF Kijt (d) None

Bvhs Rera 2-

(a) LtSFKjt (b) Rt SF K jt

(c) Lt RF K jt (d) &g T8
(24) ‘Pituitary gland’ is plotted on -

(a) Lt Ring finger (b) Lt Index finger

(c) Lt Middle finger (d) None

eged 78 Rera 2-

(a) 9T IIRST W) (b) IRfT aoft o

(c) arff weIHT wR (d) dig &Y
(25) Correspondence of ‘Hand’ is located on -

(a) Middle finger (b) Ring finger

(c) Index finger (d) None

Brrd! goarefar Rera 2—

(a) HEgHT TR (b) IATFAST W=

(c) asi=it w= (d) ®dig gl
(26) Which number is related to ‘water element’ -

(a) 4 (b) 3

(c)2 (d) None

STl dcd 9@ wfud e 23—

(a) 4 (b) 3

(c)2 (d) @13 =Tl
(27) ‘Kaph’ is the combination of which elements-

(a) Akash + Vayu (b) Jal + Prithvi

(c) Agni + Jal (d) None

‘&% o a@l o1 FAT E —

(a) JATHTA_+ A1y (b) STel_+ gedl

(c) AT + et (d) Big el



(28) Sense organ ‘Ear’ is plotted on -

(29)

(30)

(31)

(32)

(33)

(a) Rt MF P jt
(c) Rt SF P jt

‘dMfeed s Rera 2 —

(a) Rt MF P jt o=
(c) RtSFPjtw

(b) Rt RF P jt
(d) None

(b) Rt RF P jt &)
(d) &g 2

Body hole ‘Mouth’ is plotted on -

(a) Lt MF P jt
(c) Lt RF P jt

TBse Ju Rea 2—

(a) Lt MF P jt
(c) Lt RF P jt

(b) Lt SF P jt
(d) None

(b) Lt SF P jt
(d) dig T8l

Correspondence of Knee is located on -

(a) Index finger
(c) Middle finger

ged &1 gearefar Rera 38—

(a) aoi- TR
(c) IETHT WR

(b) Small finger
(d) None

(b) ®f-iffs®T W=
(d) &I &l

Which one is Metaphysical element -

(a) Akash
(c) Vayu

WRMAfI® daa @ —

(a) 3ITHTA
(c)arg

How many action organs are -

(a) 3
()5

Ffaai g fead srdt -

(a) 3
(c)5

(b) Kaal
(d) None

(b) &1t
(d) B T
(b) 4

(d) None

(b) 4
(d) ®Ig =TEl

Element Atma is plotted on —

(a) Lt Index finger (b) Lt Thumb

(c) Lt Middle finger (d) None

3T ded Rerg 2 —

(a) 9rfY aoiit W (b) I IS W
(c) i wegH T WX (d) &g T8



(34)

(39)

(36)

(37)

(38)

(39)

Bone tissue is plotted on -

(a) RtRF P jt (b) Rt MF P jt
(c) Lt RF Kijt (d) None
Jifker arg 1 wR Rera 23—

(@) RtRF P jt (b) Rt MF P jt
(c) Lt RF Kt (d) &g T8
Correspondence of Appendix is plotted on -
(a) Middle finger (b) Small finger
(c) Palm (d) None
rfrsa @t gearefar Rea 2 —

(a) wegHT R (b) wfAfs®T W=
(c) 'dell WX (d) BIg T&Y
Sense organ eyes are plotted on -

(@)Lt RF P jt (b) LLIF P jt
(c)LtSF P jt (d) None
FHf<a 3fE 1 ) Rea 2-

(@)Lt RF P jt (b) LLIF P jt
(c) Lt SF P jt (d) ®ig T8l
Pitta is the combination of which elements -
(a) Agni + Jal (b) Jal + Prithvi
(c) Akash + Vayu (d) None

foca o acal &1 99T 28—

(a) 3BT + ST (b) STel + gedi
(c) 3mpT=T + a1y (d) ®Ig =TEl
Pancreas endocrine gland is plotted on-

(a) Lt MF K jt (b) Lt SF P jt
(c)LtIF P jt (d) None
IFATI Ja-aTdy Uiy fr ux Rerg @ —

(a) Lt MF K jt (b) Lt SF P jt
(c)LtIF P jt (d) iz Tl
Which number is related to earth element -

(a) 4 (b) 5

(c)6 (d) None

gedl dd ¥ wHEfad & 2—

(a) 4 (b) 5

(c) 6 (d) g €l



(40)

(41)

(42)

(43)

(44)

(45)

Correspondence of Uterus is locatedon -

(a) Index finger (b) Palm

(c) Ring finger (d) None
AT & gearefar Rera 23—

(a) Tsi (b) o¥eh
(c) STIfH®T (d) &g T8
Stomach is plotted on -

(@) RtRF V jt (b) Rt IF K jt
(c) Rt MF V jt (d) None
e Rera 2—

(@) RtRF V jt (b) RtIF K jt
(c) Rt MF V jt (d) &g -TE

Man element is related to —

(a) Rt small finger (b) Rt Index finger

(c) Rt Middle finger (d) None.

A dcd gHfEa @ —

(a) <Y wffissr @ (b) <rff T+t &
(c) <Y we 9| (d) dig &Y

Direction element is related to-

(a) Lt Middle finger
(c) Lt thumb

feom 9w 1 @ wwefag 2—

(a) 9T HeIHT
(c) 9r T AT

(b) Lt Ring finger
(d) None

(OEILIRSELEE
(d) &g Tl

Vaat consists of which elements -

(a) Agni + Jal
(c) Akash + Vayu

(b) Jal + Prithvi
(d) None

ard fd deal 9 el & 9971 2—

(a) AIRT +Sa
(C) ATHTA + A1y,

(b) Stel + gedl
(d) &I &l

Correspondence of Lumbar area is located on-

(a) Middle finger
(c) Small finger

(b) Back of palm
(d) None

R &9 & gearetar fe wR Rera 23—

(a) wegHT
(c) df-ifs®T

(b) goreh & 9B
(d) B &



(46)

(47)

(48)

(49)

(50)

Spleen organ is located on -

(a) Rt ring finger (b) Rt Index finger

(c) Rt Middle finger (d) None

wier sraua e i) Rea @ —

(a) STt st (b) <Y aof+h

(c) <Y HeawT (d) dig =&l

As per Ayurvedic biological clock, 8 AM — 4 PM time is related to -
(a) Vaat (b) Pitta

(c) Kaph (d) None

YA I olg a<) & JIJIR UTd: 8 Iol 4 A 4 ol db I 999 =
| wwfea 3-

(a) drd (b) U

(c) ®® (d) ®Ig =Tl
Darkness element is plotted on -

(a) Lt Index Finger (b) Lt Ring Finger
(c) Rt Thumb (d) None

a1 d@ e wR Rea 2-

(a) 9rfi aoih (b) arfY sFTfT®T
(c) qHIT JATBI (d) HIg 1Y
Medulla is plotted on -

(@) Lt RF K jt (b) Lt IF K jt

(c) Lt SF Kt (d) None

Ayl =1 iR Rerd @ —

(@) Lt RF K jt (b) Lt IF K jt

(c) Lt SF K jt (d) @Iy T8
Correspondence of ‘Nose’ is located on -

(a) Index finger (b) Middle finger
(c) Thumb (d) None

A& HT 915 =1 o= Rera 2—

(a) asi=N (b) wregHT

(c) SiTat (d) d1g T



